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ALG 1 - Unit 7 - Rational Exponents Day 1

WARM UP: List the perfect squares under the following numbers.
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BACKGROUND INFORMATION

A Rational Number is a real number that can be wiitten as & simple fraction (i.e, as a ratio},

Example: i iz
1.5 is a rational number because 1.5 = 3/2 (it can be written a5 a Fraction) > S/ ves
3 Mot 1,78 /4 Yes
1.5 = e e - 001 1/1000 Yes
Rational 0411, 1 . Yes
V2 NO I

{square root of 2)

Cops! The square roat of 2 cannot be wiitten as a simple fraction! And there are many more such
numbers, and because they are not rational they are called Irational.

Another famous irrational number is Pi(n}):
Formal Definition of Rational Number

Jati ?
1.6 = _é‘_;mh\,lim T = 3.14159,.. = —= (No Ratio) A rational number is a number that can be in the form p/q
2 ? - .
- ) : where pr and g are integers and q is not equal to zero,
Rational trrational

DISCOVERY

Using a calculator, determine the meaning of the exponent %,

1

1 1
g 252 = § b 92 = 3 ¢ 1002 = (0 d) 16

B | -

) e) 4915'—‘—'7

: CONCLUSION: yake +he
= An exponent of %2 means S‘l wavre vool™
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Now try this problem; (— 36)5

w
What happened? Why do you think this happened? Explain your thoughts. “&W} Xﬁbo‘(
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or  Tpon = PREDICTION: Without using a calculator, &
caoh = figure out the answer to this problem. .

—rure 15 M # ‘{O“ . 1 .
arc T get —36 : 3 L :
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rational exponents in the form

index - tells what root you are taking

/n

/ \r‘ad’icand - the number

Target #2: | can explain the meaning of o
rational exponent

Target #4: | can convert back-and-forth from
radicol form to rational exponent form

ﬂ)'r;es the exponent of ¥ really mean square root? ™\

(5-1"2):a =5'=5 RV o
(J§)2 s (5"2) *(\/3) =52=4/5

radical under the radical
Reomensber that squaring and sqaite rooling are inverse operations,
SymbOl \“ They wado one u:mlht;t. o M]u:hllh::.cmL/
Examples: :
Write the following in rational exponent form. ji
i

-:_6q' 3\/;:)(’3'-

Write the following in radical form.

q\)_i. 6. S%"E

Simplify the following.
1

9. 1212 = ||

1
5 29 =

Determine whether each equation is True or False. If it is true, show your work to defend your answer, If itis false,

show your work and ex_l_a_lg_ij_lt_ls_fm?&i [
7 1 \ 1 -
13, 14, 643=%/@=4 / 15.\/E=16-£=4
o 4
Wt{‘_{ I“’[\'{ s 63 means 3J6_:f'—l ! {6 MLONS .
gyl ZI194T DT 3[e = 4 because L% aet 1677
g2 s 4k ind0 43 =g 4o = 2. because 295l
o oot i

Circle thé two expressions that are equivalent to 16. Show your work.
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VOCABULARY

The square root of a number is a value that, when
multiplied by itself, gives the number.,

Example: 4 -4 = 16, so the square root of 16is 4.

The symbol is .\/7

Another example: +¥36 =6 (because 6 - 6 = 36}
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